EARAROBEEIERT — 2 N— IBISH —F 20135118240 (B) 5H%=8H

mﬂi%sﬁ + 500AFF (B2a) [E%E] == BT
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 43 | ML 2:25.9 13-12-12-12| 34.5| 94.4 | 9 478 | B35 ()
1Rl 5| F-LILTXE2— 55.0 (=) o | o—tir—yry
L:ZFA4Td—I K B:7HHIn—U— B
SR . €2 4| R L=T 2:25.9 10-10-10-8 | 35.0 | 94.5 | 1 496 | BERFNME (55iA)
2 117 TG IIL—X - 57.0 ) ) ERERR
R:TwINEry b BTN RIN— HET7—L4
s o 4 4 | C. TAUTL 2:26.0 4-4-4-4 | 35.3| 93.5 | 2 466 | AREEL (EH)
3 &N 6 TFTaINR 55.0 (3/4) (+6) (H>§1v—>>7
R:F1 =427 b B:IrELHO J=HrTp—L
> # 5 | ALREE 2:26.0 8-8-8-4 |35.3| 93.5 | 4 464 | KRS (EH)
41816 TE—JL 57.0 (NF) (+4) HHER
LN—=v774 B:Idrra141 HET7—L
5 # 5 | M. FL-0O 2:26.2 2-2-3-3 [35.7| 91.5| 7 496 | DNEEFESL (3578)
5|1]|2| M- ¥¥T75— 57.0 (1172 (g | .0B) HAL-XAK-2
LN=Y7514 B:¥a-NJ)JL HET77— L4
= 4 3 | BKHE— 2:26.3 8-8-8-11 |35.3| 90.3 | 3 450 | REFRIE (357/)
N > e PE 55.0 (70 ) |EREE
R:THAFRYF— B IUHFRIHIT BE RBE
IS 4 3 | EEXH 2:26.3 6-6-6-8 |35.4| 90.4 | 12 466 | HEIRED (EH)
14 5 RIS A 5.0 (7€) o | W) $5TLyKs5T 5747
L Z2FAd=I K BN—JuN—1) — EvJdLy RT77—L4
i =5 # 3 | HEHEEER 2:26.5 14-14-14-14/ 34.9 | 88.2 | 13 4 | =/ BHFE (EH)
8 7|7zV&>7 53.0 A 1/4) (cg) | HLRHE
R:Tw TRy b BiELIRTY NOZIN ¢
S T A o3 | AEHN 2:26.5 4-4-4-4 | 35.8| 88.5 | 6 510 | iEHE ()
98|17/ 771 KL XX 550 F22) P )t
RNy &ZhTzr B:Fa-—N2)IL2 NS T =5
¢ . i 4 | RHEEE 2:26.6 15-15-15-14| 34.9 | 87.1 | 5 460 | FEESH (EiE)
10/ 5|10/ @F ¥ NRILT ) > ER 55.0 (1/2) 4o | BEEHILY
XL THANKN B F v H— b () HAa-KRL—>araEIr
2 i 4 3 | SlE— 2:26.8 10-10-10-8 | 35.9 | 85.5 | 10 | 470 | BWEER (F#)
1lz|13| Tv7L1270 5.0 Ry Gy | U0 Basic
LiFRLTAANAN FFAT)—FL R HBTp— L
= IS 4 3 | EEHE—EB 2:26.9 12-12-12-12| 35.6 | 84.3 | 15 | 466 |‘BEREEZ (KiH)
12/8|15| 7T TLT> F— [B] 8.0 (i/2) (o | MEER
RV KYIYRIR BiLLYT EESAN ¢ )
S ; # 3 | FlREX 2:27.6 6-6-6-7 |36.8| 78.3 | 11 454 | ER1EZ ()
13/7(14| V71 75 ¥ = [B] 5.0 @ (o) | CH) blS
L:84¥Tv ML B:2AL7—FHhY~ LalliEae
. S # 3 | BBIR 2:27.7 17-17-16-16| 35.6 | 76.0 | 8 458 | KiILRE (%)
£=12 ELTLI—Ib 55.0 (172) 0 FHiE
L:T7LBAT49 77148 B Rx—HhF— EeR BA
; # 3 | AUxTR 2:28.6 2-3-2-2 [ 38.3]70.9 | 17 | 446 |IRARL ()
155/ 9| 7 b IS 27 83.0 ) o | TEAH
L:Urh—r B:TvIIM4 $HE  IERM
3 S 4 3 | W Eaqvy 2:29.6 16-16-16-17| 36.3 | 58.0 | 14 482 | BERANME (358)
16 4| ®LvE—T 1 X1— 55.0 ®) +2) A e
Vv IRy b BTz F7U—NF—FK HBET7—L
o p B3 | SHEK 2:30.0 1-1-1-1 | 39.8| 61.2 | 16 | 472 |&=i&MH (EH)
17l 8| ®AZ—KT v b 53.0 2 1/2) (+1) A
LT wINEry b BiRY I AHR i R
@ 71 L
) 48.6-35.7
NA> 24 L | 12.6-10.8-12.3-12.4-12.3-12.1-12.2-12.6-12.9-12.2-11 .4-12 .1
@ 1—F—@&BIEf
13=7r= 8(2,9)-(6,17)-(11,14)-(3,16) (1,13)-15,5,7-10-4-12
2ol=7r= 8,2,9-(6,17)-(11,14)-(3,16) (1,13)-(5,15) 7-10=4=12
3a—7+— |[8,9-2-(6,17)-(11,14)-(3,16) (1,13)-(5,15)-7,10=(12,4)
40—4— (¥8,9)2(6,17,16)14(11,1,13)3-(5,15) (7,10)-12=4
[ RN
B OB 5 2,170 714K 1-5 1,650M e & 1-3 670M &R 1-5-6 7,110
% B 5 520/ 5-6 1,610 | | B & 1-5 3,560M | | 3:EE 5-1-6 68,470
1 160/ 1-6 370M B H 5-1 11,230
6 200M

ABICOVWTRDTEEERROODE. TR LIV,




